the- QxR Ale] Foluby F Aoltt ol gl s gkt
AL

O 2x+3=1—2x=1-3

@ 2x4+T7T=x+1—-2x—-x=1-7
@ 5x+10=2x+1—5x-2x+10=1
@ 10=3x+1—3x+1=10

B 21 —=3x=0—21 = 3x



@D 108
=] ®? 20H
=] B 30 %
=] @ 408
=1 G 50 H






Sl et e i, of Al

"m0

el

!

i

A(-2,1), B(6,1), C(3,-4)

!

® 20 3 29 @ 924 ®B 2

D 18



— <t
G)
— | N
®
<t e}
e ||
ol = @)
i +
o =2
- I — e
il o [
T | te S
o &
< 4
ol
o - -
olp 3
o ©







7. A&SHe Al AA57F At o] Al A4l Fo] 120 & uf, o] A]
e 7}1} 2o 45 Fofolal,

s
=¥



ol At A %

A, B ¥ O%° 247} 200g, 420g°] £l &

8.

sfofet.

A 7

Ay
1

5t

22§70

2 g9l

d504 B IRS



M Ax, y)7HA TART 919 ¥ o, ohg 1Y) & ¢
P

&

2
25

fo

A

[a]
7]
Q@ xy>0 © x+y>0
©® x-y<0 ® -x+y<0
=

o



10.

che} 2ol oW 4 x 7} 7} o w Soj7t
ol A4hE WelY nhxa} »ri wh]
gol 12 7k Hl9ieh. ofu), x 4 AOELS
e




11.

ol

e fo J
Mt o Rl
e = H

]_

/R
=2

o

1

V]
0

d=7HelA 2ol 252

1 7hell 1800 94 a 7f DTzt

L g Eo
5 %GBARA BHeY 29 5 Ak B, 85 5

95 s}Ae] Bgg Pojolat



MM ,;.ma
e
Wl ﬂw_

ey __01_

e]

of e
o=

=

] o
TN

(@)
=
o0 TO

N He
T
w7

ol ol Lo
o me
o — 0
ook
T’ N loF
= o_u Nf
B EK

;oT
N

_#OT
NF

LOT
NF









oju

T

— ™

1
9

2]

of F9HY =7t A

Fg Totofet,

_QJ

iy
olJ

Tjlo

1=

o] Hict. mpA|etof



